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Bxomsl A Berxoas! Q

210 0 1 2 3 4 5 6 7
000 1 0 0 0 0 0 0 0
001 0 1 0 0 0 0 0 0
010 0 0 1 0 0 0 0 0
011 0 0 0 1 0 0 0 0
100 0 0 0 0 1 0 0 0
101 0 0 0 0 0 1 0 0
110 0 0 0 0 0 0 1 0
111 0 0 0 0 0 0 0 1
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210 0 1 2 3 4 5 6 7
000 0 1 1 1 1 1 1 1
001 1 0 1 1 1 1 1 1
010 1 1 0 1 1 1 1 1
011 1 1 1 0 1 1 1 1
100 1 1 1 1 0 1 1 1
101 1 1 1 1 1 0 1 1
110 1 1 1 1 1 1 0 1
111 1 1 1 1 1 1 1 0




Hindparop

\

CD

N BWN—=O

CD

O




D3

MyabTHILIEKCOP

D2

D

&DCJ

W N = 0O

Do

D

D2z

MX

D3




MyabTHILIEKCOP

SO
”
Usx0 © -
A,
Usx1 O
BX1 S2
Usx2 O e
S3
Upx3 O / —
0123
Hewwudparop
afjpeca
AQ
M3P _T
C3P

A1 A2
T TPaapeLueHue
| "

O

lusb.x
I

SW

_):gmm—xo

AO




JleMyJabTHILICKCOP

D " g Yo=DAA,
VHOPM. BX0[
1 g Yo=D AsA
& | YO=D A1K0
Ay ]2 ; g Y&=DAA, _
3 S

DMX| Y,

0)



19
4
59




4 |pc1 DC2 DC3|Q anpec

0 100110 000

a6 |+ 1 100 110 001
2
A7 i :
4
A8 5 :
6
7

AI£ 8 ssueex
8 0;10K0OB

no 64 s4yeiku 8 OlokoB  — Alpc4|Q

= 512 sueek no 8 aueex A0 0 100111 000
=64 ssueliKu — 0 1
2
Al ’ 5
4
A2 . :
6

7 100111 111

8 ssueex







